NATIONAL SKILL QUALIFICATION FRAME WORK (NSQF)
MODEL QUESTION PAPER

LEVEL -1
DTOD: esedpeatoalee Hoded mos: 88E&K
Subject: Automobile Code No: 88E&K
D00P: 23wr3 9.30 8oz 11.30 Time: 9.30 AM to 11.30 AM
ﬁ@a‘i eozngd: 60 Max Marks: 60

Four alternatives are given for each of the following question/ incomplete statements. Choose
the correct alternative and write the complete answer along with its question number and

alphabet. 10x 1=10
ge 3YNI B el oPwe wBere Bewdrivrl Towy Badjecod LITNER, VeBNB. WJivy He)

WPTDOW HUITDRY, 80D, BB, Joay BB FedregTdeodrs 300

1) The name of first cheapest Indian Car is
0033 [eBO 8 A Be30d FdIT BT

A) Maruthi-800
B8 - 800

B) Ambassador
290239 TBT®

C) TATA-NANO
wawa—mq@uae

D) Premier Padmini
e BERR
2) India became Asia’s third largest exporters of Passenger Car after
Be Bedrid J033 o038 HHFE BoedSe Fadieedsd Fodh By TeRHoNT.

A) Japan and South Korea
2T I Bgro EdAd

B) Japan and China
BHON® B 23e™0

C) Japan and Srilanka
2HON® DI ewoT

D)  Japan and North Korea
BT D) I3 BdAD

3. The objective of lubrication system is
BOTRETTO QwWo0F d?gdéodo evgied

A) to reduce light
JgEy, BB SeBJT

B) to reduce friction
TREW AR FIRJTD
C) to reduce speed
Per 3B DeBJD
D) to increase friction

PR Beg) WBJHYT>



The component used to ignite the fuel in petrol engine is
Bedgee® YoeIY aoqﬂddab& &aga’o@cﬁa—gﬁ B3NP BTN

A) Push rod
3 I3ebrih

B) Fuel injector
JOPS VRQYVT

C) Carburetor
ol Bee30s

D) Spark Plug
3B3e3

Learner driving license is valid upto
BT 235000 BTN Te RT3 250e90HLHIT.

A) 6 months from the date of issue
QeHB BP0THOB 6 dorELa3rs

B) 12 months from the date of issue
QeHB BP0THOR 12 don¥=3r}

C) 9 months from the date of issue

eRTW BP0TIDORT 9 donvR3N

D) 15 months from the date of issue
QeBB BdIe0oTHOB 15 onFR33r}

Identify the width limit sign
DB BOOE QBoDT, WeedT0es 3F,0D, HE

A)
B)é
C) €3M3
D) Gy

Passport is necessary for this type of driving license
Be PR 230000 BTDOAT BB TP BLeLFE eadei?gé

A) Learner driving license
FITO 25000 BT

B) International driving license
©0To00Zeod 2500V WIS

C) Light motor vehicle license
OTD WICELIOT® VoD BTN

D) Heavy motor vehicle license
3700 BeLIoT’ WoBdN BTWoTI



10.

II.

11)

12)

13)

14

The fall of CO; and SO; level was found in Delhi between 1997 and 2005 because of
introducing
Bpeadey 1997 &) 2005 3 Diey CO2 &3y SO2 nY Fedoeo 3Baderieny FoTeo
A) C.N.G. buses
C.N.G amnd 29%

B) Diesel buses
Beger® MY 08P

C) Petrol buses
Bedpee® Y w68

D) Oil buses
e300eP DAY 2EF

Technician checks the cooling system by topping up the
B3¢ 0oZ FE oI FohTT eedgody BOegS [BAY, 0F Q83 SowTY.

A) Fuel
Q0533
B) Air
Mow
C) Coolant
BP0
D) Gas
QO

Trinity of breaking system is used as an innovative car safety technology in
desor® gdgod FmpeE), Be Fo0°TY WTFTo 003530y MededsdodeN evaodeeNTeroNt.

A) Nano Car
am?gaijae To0°

B) Innova Car
J3Resd Fo0°

C) New Honda City Car
Sy BROOWO ey Fo0®

D) Electric Car
) c?-)d)qg@s To0°

Fill in the blanks with suitable answer 4x 1=4
RpTaRd eVICHOR Bt JHH, gidcwmnd:-

A wheel is a component that can rotate on its centre.
85§dab& Feoryn mIew edeorded 2982391 DO 3¥03DBOT.

Combine harvesters are one of the most economically important inventions
a’oQ woﬁﬁdm VR WOBD—— e @3503 msgw 3T TOBRNReFI03T00T3.

Hand can also be used as a in emergency
oI géﬁ‘ég oA —— e QOB HUTO3PENTDBOTD.

Collision warning system uses technology
oZPedod @B eIose d?gaigabo ______ 008530, BROHT.




15) The uses of the Vehicles are given in Column ‘A’ and the names of vehicles are
given in Column ‘B’, Match them. 4x1=4
DBy eusodeerinys, e ‘@ 3 RedeeN®) DBy BTO, Bey ‘29’ S ReBdoN®), wYHriva,
BRODD 0Bod

Column A Column B
‘@ ey ‘29’ ey
€3 €3
1. Special Vehicle A) Scooter
ABeR DB Ve3o®
2. Commercial Vehicle B) Dumper
ams'éa?g BODOH DoBT DB (e.JoLs[oMd
3. Agriculture Vehicle C) Motor bike
Byd TOVOH OB eBoeesore eyE®
4, Construction equipment vehicle D) Truck
QIIVE €D TOROYWOB £33°
E) Fork lift
ee3RB o0doI
F) Bus
oy
G) Combine harvester
R0f) ToPTwe T @B
Answer the following questions: 6x 1=6
16.  Why suspension system is necessary for vehicles ?
BB BRI FgBP DoBIIr3 DT DB ?

17.  The front axle of a vehicle is made of I section in the central portion and circular or
elliptical in the ends why ?

DoBIB Fwowdod weh Bekeeiny | IZTR0B Beryudy I Jedoby ByTesed wre
®Oo@oE0wo BPRWYT DT ?

18. Draw the diagram of piston ring.

SJR® DO 3ZBR, w300.

19. Name the office where the registration of the vehicles is done.
DoBINY Feeoredoda, Berda Seledodby, BTOR.

20.  What type of license is required to drive a truck ?

2700 PLELIVT® WOBDN 23eTO0NTEN 030w AP W BT 23ed0?
21. Driving license is necessary to drive a vehicle why ?
DB BTOONDTVEN 2500V BT WDFFS 03I ?
Answer the following questions: 6x2=12
Se 3¢90 B riwrt ev30:-
22.  Combine harvesters are useful vehicles to farmers why ?
A YoFydwe T HoBS GBOrT evBOINE WeBS DT ?
Or / ogwe
List any four construction equipment vehicles you have seen.
Qex)) Jeedx odrox)woBTe oo QIJoE D TODOY m%dr‘is‘do& ﬁeg D0k,

23. Mention the functions of brakes.
2Jes°s FoodergR, dud.

24.  List the functions of a tyre.

£303)03 ﬂoi)e‘r'iéda& wag oo k.



25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Expand the abbreviation .
3 9)3 Sz 23000.

1. C.N.G
Q.28

2. P.U.C.
&.030..

What is auto emission ?
DODBN BT BRDFT DoBT3e ?

Or / og=e

Write any four measures to control air pollution from vehicles.

TBINLOR ToodvBBE KB, IBMEYS AdRPEETR Toey Fahrv, By Wk,

How does the service mechanic check the brake ?
00T FE O eJed® o), Ber] BOeFTTYN ?

Answer the following questions:
Se 39NI FBriwrd evI0:-

Draw the diagram of a piston pin (wrist pin)
DT R (BFBTYS o) 3YI, 20FaN0.

What are the important schemes administered by road safety cell ?
38 QogTe Fe3zHOW BOBowTLrHEDH Fwa adeeasrith ol ?

Or / ogze

What are the hurdles in road safety ?
338 @IFIr} Fo0BIW wBIWILL odew)) ?

List any three check ups of a vehicle before starting the engine

m&aﬁdab& 29T0PE 3TN aﬂ@a’)eigsé Soo@Be3eFTorw BT ﬁbeﬁﬁém& ﬁ@aba@.

The collision warning system avoids accidents. How ?
g ¥Iod abod&agbm d?gaﬁg @w’méﬁém& 3Boden IdFD0N. Herl ?

Answer the following questions
Se 3903 B riwrd ev3o:

Differentiate between petrol engine and diesel engine.
Bedgeeo® gosn® DI) eI Yoaxeny IBe FrTormriva), pdand.

Or / og=e

List any four requirements of an automobile body.
DD deéé FT000IT 0370 WoB3S EISY) eadei?géériéab& ﬁegdm@.

Draw the diagram of radiator cooling system and label the parts.
Seodees® Sedze smPod BZBRY VW Peringad, M.

Or / ogwe

Draw the diagram of a crank shaft and label the parts.
doerme TOUS 3BT, B greringm, M.

Never run an engine in a closed garage. why ?
B0PB Megless*Tey HoB® W), LT géo&g [BITTD. DF?

4x3=12

3x4=12



